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Part 1: Reading Comprehension (60 5)

Read the article below and answer the questions that follow.

FAEHERGEDT_OREIIAM L TH Y £

Source:

Goto, K. (2020, February 12). Scientists make energy with invisible source: Infrared light. The Asahi
Shimbun. Retrieved from http://mww.asahi.com/ajw/articles/13121370






(1) | According to the article, what are the three components of sunlight? (10 %)

(A) ultraviolet light, untapped energy, and infrared light
(B) invisible light, visible light, and hydrogen

(C) visible light, ultraviolet light, and infrared light

(D) electricity, visible light, and solar energy

(E) infrared light, electrons, and metal particles

(2) | According to the article, what is the research team currently working toward? (10 )

(A) making infrared light visible to people

(B) applying plants’ photosynthesis to power generation

(C) capturing infrared light through rooftop solar panels

(D) raising the power generation efficiency of a nanomaterial
(E) installing special windows at Kyoto University

(3) | According to the article, mark each statement True (O) or False (X). (10 5%)

(A) Masanori Sakamoto’s project started around 2016.

(B) Infrared light is used by 46 percent of businesses in Japan.

(C) Rural areas have hotter surface temperatures than urban areas.

(D) The absorbed wavelength of light can change.

(E) The energy conversion efficiency of infrared light is extremely large.

(4) | According to the article, how do the researchers propose to create electricity? (10 520)

(A) by using oxygen as a fuel source

(B) by utilizing a special nanomaterial

(C) by reflecting electrons

(D) by cooling rural areas

(E) by using less than 1 percent of solar energy



(5) | According to the article, what was the research team successful in doing? (10 50

(A) using hydrogen as a special material

(B) making a building from copper sulfide nanometer particles

(C) developing a laboratory using wind power

(D) protecting the environment from infrared light damage

(E) raising the energy conversion efficiency to 3.8 percent in late 2018

(6) | According to the article, why is the progress made considered to be remarkable? (10 #2)

(A) because the research team has made unique discoveries

(B) because of the speed of the progress made in comparison to others
(C) because energy conversion projects are important for Japan

(D) because inorganic materials are difficult to use

(E) because the research team is multinational



Part 2: Writing (40 45)

Answer the question below.

In your opinion, what are the benefits or limitations of using solar power to generate electricity?
Explain your answer in as much detail as possible. Write about 120 words in English.
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typedef struct {
char data; /x T—R */
int prev; /* HRET/ —RDAVTFv I A */
int next; /*x HE/—RDAVTFv IR */

} Node;
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void showList (void)

{
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while (cur > 0) {
printf ("%c", nodel[cur].data);
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void insertNode (char newdata)

{
int new = getEmptyNode(); /* /—FRHE{F */
node [new] .data = newdata;

int prev = 0, next = listHead;
while (next > 0) {
if (node[next].data > nodel[new].data)
break;
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